H & 0l & AHS B Ml A

FA 8IS

M 22 0tsSXd 2 gAY ST(AEEXN/E= - It

ol e =X &8

o

=

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
&I 126,195,859 128,482,793 N2,286,934
= 51,493,880
= 2,832,926
| 5,671,098
= 32,052,350
Al 34,145,605
E%.O}%Il% L Y BSR(AZ=X/ES - 119,539,483 122,014,385 AN2,474,902
= 51,028,924
s 2,626,206
| 4,734,699
T 31,698,903
Al 29,450,751
oy =X && 8,313,436 8,489,314 A175,878
= 511,008
J| 4,037,329
= 1,070,925
Al 2,694,174
SIRRIIE A4 L=Hl S K& 3,077,312 3,077,312 0
| 2,461,850
= 307,731
Al 307,731
301 LetEHZ 3,077,312 3,077,312 0
| 2,461,850
T 307,731
Al 307,731
01 AISIBE XG2S (2 LETME) 3,077,312 3,077,312 0
Os22Its otsL=Hl S A&
3,077,312,000& * 14 3,077,312
| 2,461,850
T 307,731
Al 307,731
SIER2IIE & XAMXIE A 738,700 738,700 0
= 221,610
Al 517,090
301 LPENZ 738,700 738,700 0
& 221,610
Al 517,090
02 MBI EZRSGS(HUAS, XLTHA) 733,700 738,700 0
OMAS 822IIE & XAMXIE A
738,700,000 & * 14! 738,700
& 221,610
Al 517,090
HAESIER At 37,146 37,146 0




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)
el g =4 sd

SA BB SR(BH) - NSAY - B 0l A
J| 2,717
T 2,229
Al 5,200
301 LEtENZ 37,146 37,146
| 29,717
& 2,229
Al 5,200
01 Al BEE4HS(2DEXE) 37,146 37,146
O&AY st28 THEXld Ots 2=l
37,146,000& x 14! 37,146
J| 29,717
& 2,229
Al 5,200
MEHE XN¥SY(2ZXH) 374,215 374,215
= 187,108
& 37,421
Al 149,686
307 CI2t0I A 374,215 374,215
= 187,108
== 37,421
Al 149,686
05 AI2tRE 2 374,215 374,215
OMgdHEY XA 374,215,000 * 14 374,215
= 187,108
= 37,421
Al 149,686
MIHE XESH(CIEM) 258,000 258,000
= 206,400
= 10,320
Al 41,280
307 QIZ2tOI A 258,000 258,000
= 206,400
T 10,320
Al 41,280
05 QIZIRIE = 258,000 258,000
OMENd oI 258,000,000 * 14 258,000
= 206,400
& 10,320
Al 41,280
MHEH N¥2Y(HNPGuUsEH) 117,500 117,500
= 117,500
307 CIZ2t0IA 117,500 117,500
= 117,500




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 117,500 117,500 0
OTACEOIN NADE BRI
117,500,000 *14] 117,500
= 117,500
MEHE SAX g4l K& 28,800 28,800 0
= 8,640
Al 20,160
307 elztol & 28,800 28,800 0
= 8,640
Al 20,160
05 212t =S 28,800 28,800 0
OMEHIE SALA &34l X
28,800,000 * 14! 28,800
== 8,640
Al 20,160
MEHE SAHG H<SIHAHI 33,120 33,120 0
= 9,936
Al 23,184
307 elztol & 33,120 33,120 0
= 9,936
Al 23,184
05 212+ =S 33,120 33,120 0
OMHIE SAX H<LIHAHI
33,120,000& x 14! 33,120
== 9,936
Al 23,184
oy Hged 9,600 12,000 A2,400
== 2,880
Al 6.720
307 elztol & 9,600 12,000 22,400
= 2,880
Al 6,720
05 212t =S 9,600 12,000 2,400
ONgHe - Fgud 24
9,600,000 *14] 9,600
s 2,880
Al 6,720
JECENS MHY DSEZZ2 I (XHH) 130,000 130,000 0
307 elztol & 130,000 130,000
05 2ItRIE =2 130,000 130,000
OZEHENY 8202 X& F
30,000,000& » 14 30,000
OZsEHENL SIIgRel N 1E
100,000,000 *14] 100,000




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=g QIEiede 23] 310,000 310,000 0
= 93,000
Al 217,000
307 el2to| & 310,000 310,000 0
= 93,000
Al 217,000
10 AlISAAZEE 22X 310,000 310,000 0
Ol gel=iiade =3l
310,000,000 *14] 310,000
== 93,000
Al 217,000
e 6 LXiel 2HEs 50,000 50,000 0
= 15,000
Al 35,000
307 elztol & 50,000 50,000 0
= 15,000
Al 35,000
04 QIHHAMAIH 2 £ 50,000 50,000 0
Odg od LXtel =gl A
50,000,000& » 14! 50,000
== 15,000
Al 35,000
= HdEgEHs =29 123,000 123,000
307 elztol & 123,000 123,000
05 2ItRIE = 123,000 123,000
OU4gEHEHE =29
123,000,000 *14] 123,000
JEHEY FH0ISHRA X 58,000 286,200 N~228,200
=S 17,400
Al 40,600
301 Eet2 NS 58,000 286,200 A228,200
== 17,400
Al 40,600
14 JIEt2d = 58,000 286,200 A228,200
OZEHENY 01382 &
58,000,000 * 14 58,000
= 17,400
Al 40,600
dHESF JISEA 10,300 12,500 2,200
201 er2 3| 700 700 0
01 AtR2t2|HI 700 700 0
Ogxz 700
o AHBESF AL Xt St
700,000 *1CH* 1 700
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AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el od =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 JIEF2 413 1,000 1,000 0
OSATH(ZFDH 22) T4t
1,000,000 %14 1,000
307 gl2to| & 13,500 15,000 1,500
12 QIZ2HRIRAE H=h| 13,500 15,000 21,500
OAZIENHE s & X0 13,500
oASEFNE A3 WS
12,000,000 * 14| 12,000
SAUFAHT D=Atell #IXI0HS
1,500,000 14! 1,500
Hgches =4 11,640 12,540 2900
201 er2 3| 5,400 5,800 2400
01 AtR2t2|HI 1,800 1,800 0
Ogxz 1,800
oUW d Ml SefZat Al HRI0RZ Xt
& Xt 900,000 <2CH 1,800
03 Ar=EHI 3,600 4,000 2400
OC4EH cltd SE8st us
3,600,000& %12 3,600
301 EetE2 NS 6,240 6,740 A500
11 #AIAHIXIE S 6,240 6,740 A500
OC4EEH 52 ¥ & AENS (A A
A+ 048l 50,0002 15 *23] 1,500
OC4EH clie SEd3 WE 2tMHl S
3,000& 300 900
OG- EM SEdst 2Atdl HXI0H= &
HI=2& 50,0002 x16EH M| x2& 2 3,200
O0gME2al 2t5al &4 AH 24
10,0002 * 162 %42 640
JHE=ES Lokt 2ESAE 2E X 308,841 251,357 57,484
Jl 223,983
s 25,453
Al 59,405
307 @I2t01 & 308,841 251,357 57,484
Jl 223,983
= 25,453
Al 59,406
e NEEEEETEES 276,834 224,634 52,250
ONEZHWBIN BSAIL S| (GEHE
) 276,834,0003 *10H 2~ 276,884
Jl 193,819
= 24,914
Al 58,151
11 AMISXAIEEX 31,957 26,723 5,234




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEZNN ZEAE B2 A A
(& &EH) 25,980,000 x 14 25,980
Jl 25,980
OJIEEZHToi A g =t (H8EH)
5,977,000 *14] 5,977
Jl 4,184
< 539
Al 1,254
JHEZE Lok ESAIE EIaX AHEXES 15,000 17,200 22,200
Jl 15,000
301 EtE NS 15,000 17,200 A2,200
Jl 15,000
01 Al EE A S (2 DEXMA) 15,000 17,200 A2,200
ONHES WK 2BAE SAT HEX
A3(6gEH) 15,000,000 *14] 15,000
Il 15,000
JHEEE okt XIS2=22 08 X 31,838 31,838 0
) 22,287
< 2,865
Al 6,686
307 glztol & 31,838 31,838 0
Jl 22,287
== 2,865
Al 6,686
1 ABI= XA EE 31,838 31,83 0
ONEZAWBN BB ZT2 I 29(0]
&) 1,838,000 14| 31,838
Il 22,287
== 2,865
Al 6,686
JHE =4 Lokt 2 =4l K& 6,500 10,263 A3,763
Il 4,550
== 585
Al 1,365
307 212+01& 6,500 10,263 A3,763
Jl 4,550
= 585
Al 1,365
1 AMISXAIEEX 6,500 10,263 A3,763
OJtg == Wahxt A=ZHI(0IEEE)
6,500,000 * 14 6,500
7l 4,550
= 585
Al 1,365




SN OEIIED

M 2R 0tsXE & 6g2d S(M=R/ES - IIEL0 )

ol e =X &8 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
ZAToi0E =HIZ(FY) 41,180 37,698 3,482

Il 28,826
== 3,706
Al 8,648
307 212t01& 41,180 37,698 3,482
Il 28,826
=S 3,706
Al 8,648
11 NS S RIA S E 41,180 37,698 3,482
OZATHOIL EHXAAILY S
41,180,000& *14] 41,180
Il 28,826
= 3,706
Al 8,648
IEEH 484 2SXE 141,880 126,382 15,498
Il 70,940
= 21,282
Al 49,658
307 @120l & 141,880 126,382 15,498
Jl 70,940
= 21,282
Al 49,658
10 MEISXAIEHE2EHIEX 141,880 126,382 15,498
ONEZAIGHAC A SHH| (014 ASHAIE])
141,880,000& * 104 2~ 141,880
Jl 70,940
= 21,282
Al 49,658
JHEEE Dtk WEXSE2 8 23 4,285 4,287 A2
Il 3,000
= 385
Al 900
307 212t01™ 4,285 4,287 A2
Il 3,000
= 385
Al 900
11 ARRIZXAIE 2 X 4,285 4,287 VAV
OJFEZ2 DN DEXRT2 8 29(
HEaZHE) 4,285,000 « 14! 4,285
Il 3,000
== 385
Al 900
JHE =S o THEX AHY 1,950 2,750 A800
== 585




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,365
307 gl2tol & 1,950 2,750 2800
=S 585
Al 1,365
11 ABIS XA EE 1,950 2,750 800
OJVE=et I3 LYK Atel
1,950,000 *14] 1,950
= 585
Al 1,365
24 Lok EsAlE 2SN 247,655 246,863 792
Jl 176,100
== 21,466
Al 50,089
307 elztol & 247,655 246,863 792
Il 176,100
== 21,466
Al 50,089
10 Al2IS XA EEE 22X 238,516 237,916 600
ONZ2AMSHT SSAL SHHI (M0
) 238,516,000 10 2~ 238,516
Il 166,961
s 21,466
Al 50,089
11 AMEISXAEEES 9,139 8,947 192
OMZAWBHN ESAIE BI2SX A
A& 9,139,000 *14! 9,139
Jl 9,139
H=MEaEHE 29 X 198,036 183,242 14,794
307 elztol & 198,036 183,242 14,794
05 2IZtAE = 198,036 183,242 14,794
Ol =MaasHE 23|
178,003,000 » 100 A 178,003
O =MZafsHlE At
15,713,000 x14] 15,713
O EZHLTIAE SAX SE=(0=M
gagdd) 4,320,000 * 14 4,320
SOHOHTIGHAH RIRAIE & AEA 29 N(0de 184,150 183,550 600
K& HE)
Jl 92,075
[ 46,038
Al 46,037
307 lztol & 184,150 183,550 600
Jl 92,075
s 46,038
Al 46,037




2A:

X XH -
o=

Ol&ot=0t
S 0SXd ¥ g SE(AMIEXN/ES - IHEY

o

)

el g =4 sd (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
10 IS SXAIEHE2ZHIEX 184,150 183,550 600
OSIHONTIISHT AEA SEHI(01A IS
HIE) 184,150,000 *1J1 2 184,150
| 92,075
= 46,038
Al 46,037
@?HUHTH@HXP KEAE L AL 2 XJ(2XhE 235,809 235,209 600
&
J| 165,066
= 35,372
Al 35,371
307 212+01 A 235,809 235,209 600
| 165,066
= 35,372
Al 35,371
e NEEEEETEES 235,809 235,209 600
OSOHONTIGHR RIRAIE 2Z8I(SXIHHE
) 235,809,000 *14] 235,809
| 165,066
= 35,372
Al 35,371
SONRIIGHA NRAIE 2 A4 22 X (018 X2 451,100 450,500 600
KA HES)
| 315,770
= 67,665
Al 67,665
307 2I2+01A 451,100 450,500 600
| 315,770
& 67,665
Al 67,665
10 Al = XA EHE2FHIE X 451,100 450,500 600
OHAOHOHTIGH A Rr&XI2HE SDHI(0 S Xt
EX2HEH) 451,100,000& » 14! 451,100
| 315,770
= 67,665
Al 67,665
& 0HOHIIOH Kt 2= K| & 82,644 84,889 AN2,245
| 57,851
= 12,397
Al 12,3%
307 gIzHol ™ 82,644 84,839 A2,245
| 57,851
& 12,397
Al 12,3%




AT HEIED
B 92 OIS UL OLHE EX(ASISK/ES - IISU0IA)
ol e =X &8 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 82,644 84,889 N2,245
OXOHOHINGH K =X (A AAXIJEIE/
SXHEH) 41,322,000 & %204 2~ 82,644
Il 57,851
< 12,397
Al 12,3%
SOHOHLIGH NS AR AL 23,100 24,100 A1,000
201 Ler=23 | 500 1,500 A1,000
01 At2teltl 500 1,500 1,000
O=2g+¢ 500
SHINWIIANTSS NAWAT HEee
3 H4&g 100,000& *5& *13] 500
301 2eEN= 15,600 15,600
02 MBI 2HHSFHS(HAANS, XLHE) 15,600 15,600
OE4HHHE &A= 15,600
o4 1,000,000 x1&* 12 12,000
cusH(Hg=etl)
300,000« 1H =122 3,600
406 JIEFAIZ01E 7,000 7,000
01 JIEtAH=201A 7,000 7,000
OEHHAE & =HXHH X2
7,000,000 14 7,000
ZHol 0IF0d EsAld 22 514,734 389,024 125,710
Jl 360,314
[ 46,326
Al 108,094
307 elztol & 514,734 389,024 125,710
Jl 360,314
s 46,326
Al 108,094
10 Al2ISTIAIEEE2HIEX 514,734 389,024 125,710
ZHUoH0I=0d ESAlE 22| 514,734
o0l=0d & 257,367,000 * 104 2~ 257,367
Il 180,157
== 23,163
Al 54,047
oUE3HdgaEH
257,367,000 100 £ 257,367
Jl 180,157
== 23,163
Al 54,047
Z20lol OIF0HE ESAIE EAX NEXES 10,000 10,000 0
Jl 10,000
301 EtE NS 10,000 10,000 0




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)

el od =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 10,000
01 Al EE A S (2 RDEEMA) 10,000 10,000 0
O=FgUlol 01F0d ESAlE &K IUHE
XIAZ (01201 =01 S &EH, 01 = TH2 31 01 A &I
) 5,000,000& »2H 10,000
Il 10,000
HESHYRt THAES 304,541 316,579 A12,038
= 60,633
Al 243,908
301 EetE NS 6,500 6,500
02 ANRI2HHSFS(HAAS, NLHE) 6,500 6,500
OUESTIAIE AT HE AZ2(E, F4H)
50,0003 »65 & *22] 6,500
307 elztol & 298,041 310,079 12,038
= 60,633
Al 237,408
10 Al SXAAIEEHE 22X 298,041 310,079 12,038
OUYE=HANE SAL S+
45,000,000 *14] 45,000
= 13,500
Al 31,500
Oud==8IANE 28 & FIHIA
124,684,000 * 14| 124,684
< 24,935
Al 99,749
O=gllch 01F0d 2SAIE SAHAH S8
=g 17,280,000 x 14 17,280
= 5,184
Al 12,096
O==ldh 0IF0E 2ESAIE & I
56,717,000 *14| 56,717
< 17,014
Al 39,703
OWESAAIE SALA XMRIHEH]
54,360,000 *14] 54,360
HEZHFLF2t D5 &AL 3,000 5,000 /2,000
307 @12t01 & 3,000 5,000 /2,000
04 QIZHHAMAIH 2 £ 3,000 5,000 22,000
O 8= =22t I FHAL
3,000,000& *14] 3,000
gl Ag StotE HALKIR 3,000 5,000 22,000
307 glztol & 3,000 5,000 22,000
04 CIZHHAMAIH 2 & 3,000 5,000 /2,000

O
2
0x
e
F]
o

|Ag Stote At X1
3,000,000 *14! 3,000




2A:

Bl

B 9= OIS U OLHEO! SX(ASI=X/ES - IHEU0HA
ol e =X &8 (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Z0Yu=s 12,640 30,120 A17,480
201 LB-2AH| 2,300 15,200 212,900
01 AtR2telt] 2,300 15,200 A12,900
Oget=2H| 200
oEHNYNE 2HHI(B+Y S)
100,000 *23| 200
o2d+4Y 2,100
SOISAl ZE ZAOIYDS BASE L
] 1,050,000& 1 *23] 2,100
202 0idl 440 1,020 AB80
01 =LHO4b| 440 1,020 AB80
O=20YLL DS
110,00024+22 x22+13] 400
301 LBHEHI 4,900 4,900
14 JIEF2 A2 4,900 4,900
OR0DI= ZHOLDS BASY
100,000 *7H+73| 4,900
307 212+01 A 5,000 9,000 24,000
02 QIZHAAAIEE R 5,000 9,000 24,000
OZE WL (0 2=WCA)
5,000,000& * 14! 5,000
Ots=sKl XI& 32,399,065 32,969,8% 570,830
= 13,376,057
= 2,626,206
| 127,223
& 4,196,053
Al 12,073,526
XNE0tsHle 298 X 4,308,000 4,308,000 0
= 2,154,000
& 646,200
Al 1,507,800
307 212+01™ 4,308,000 4,308,000 0
s 2,154,000
= 646,200
Al 1,507,800
10 AISIS XA EEE2IHIE X 4,308,000 4,308,000 0
OXIg0ot=s4HlEe 298 XA 4,308,000
o2dH| X 858,000,000& * 14! 858,000
s 429,000
T 128,700
Al 300,300
oQlAd| K& 3,450,000,000:& * 14 3,450,000
s 1,725,000
= 517,500




SN OEIIED
¥ 25 0SSN & oddd ST(MRSN/ES - HFL0Y)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 1,207,500
NS 0tSHE 28l FIHKIE 210,744 202,581 8,163
== 31,611
Al 179,133
307 212+01& 210,744 202,581 8,163
< 31,611
Al 179,133
10 Al SXAEEHE2EHI2x 210,744 202,581 8,163
OXSotSHE 28 =0t
210,744,000& x 14 210,744
= 31,611
Al 179,133
NEotsHE K& 3,500 3,500 0
201 et 3| 500 500
01 AtR2tc|Hl 500 500
OXIOISHIEII S| BHA4T
500,000 *14] 500
307 glztol & 3,000 3,000
02 2B YA E X 3,000 3,000
OXISOtSHIE SAAF S&2st /35 X
S 3,000,000 *14] 3,000
NSHotsdE 22 AR (ZH2X) 2,354,000 2,297,840 56,160
=S 471,832
Al 1,882,168
301 LEtE NS 216,240 216,240 0
< 34,344
Al 181,896
14 JIEt2 8= 216,240 216,240 0
OXNS0ISHE SAHLY S8+
90,0002 106« 12 114,480
= 34,344
Al 80,136
OXIH0tSHIE SAHX SE =S (XHA
80,0002 x106E 122 101,760
307 212+01& 2,137,760 2,081,600 56,160
[ 437,488
Al 1,700,272
11 AMEISXIAEEES 2,137,760 2,081,600 56,160
OXS0tSHE SAHl X2
2,038,400,000& x 14 2,038,400
= 407,680
Al 1,630,720
OXSotsHE SAER0 A&
99,360,000 * 14! 99,360




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 29,808
Al 69,552
KSOtsHIE SAHAL Q1AH] 28 4=E 254,400 254,400 0
= 76,320
Al 178,080
301 EtE NS 254,400 254,400 0
=S 76,320
Al 178,080
14 0Bt 2as 254,400 254,400 0
OXISOtSHIE SALA 2IAH| 28 =H
200,000 x106E 122 254,400
< 76,320
Al 178,080
NSotsHE S+==8d X 65,772 65,772 0
= 32,886
[ 16,443
Al 16,443
307 glztol & 65,772 65,772 0
s 32,886
== 16,443
Al 16,443
10 AlRIS XA EEE 22X 65,772 65,772 0
OXlgiotsHE S+==8d N2
65,772,000 *14| 65,772
s 32,886
s 16,443
Al 16,443
AGotsdE E29 XA 19,200 14,592 4,608
= 9,600
=S 4,800
Al 4,800
307 21201 & 19,200 14,592 4,608
[ 9,600
= 4,800
Al 4,800
10 AlISXAAZEHE 22X 19,200 14,592 4,608
OXI0tSHE E223H|
19,200,000 * 14! 19,200
[ 9,600
= 4,800
Al 4,800
XGotsdE JIs22 45,000 10,000 35,000
== 45,000
402 QIF X201 & 45,000 10,000 35,000




2A:

X ZH -
o=

Ol&ot=0t

2 0sKE £ g3 SE(AtE

=7/25 - HEY

o

)

s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
02 2IIHE AN 2 X (01T 45,000 10,000 35,000
OXAOISHE IS8
45,000,000& *14] 45,000
== 45,000
NSOotSHE SAtLel ST K& 224,050 176,098 47,952
=S 67,215
Al 156,835
307 @I2to| & 224,050 176,098 47,952
== 67,215
Al 156,835
02 LB HANHEE 224,050 176,098 47,952
OXIY0tsHIE SACel 22 K&
224,050,000 x14] 224,050
= 67,215
Al 156,835
NS 0rsSHlE =yl A& 23,520 23,520
307 gl2to| & 23,520 23,520
10 Al SXAZEE 22X 23,520 23,520
OXSotsHE ditedl X3
23,520,000 * 14! 23,520
KG0otsdE 018 Ot stote &AL 15,000 15,000 0
307 212+01& 15,000 15,000
04 QIZHHAIAIH 2 X 15,000 15,000
OXIS0tSHE 0180tS ef0te &AL
15,000,000 » 14 15,000
NSO0tSHE OtSSXWAL ItA X2 56,319 134,330 A78,01
= 25,222
S 7,567
Al 23,530
101 @124H| 50,535 127,920 AT7,385
= 25,222
< 7,567
Al 17,746
M ORINZZ2NSE S 50,535 127,920 AT7,385
OOt=SSXIWAF It X
50,445,000 * 14| 50,445
= 25,222
== 7,567
Al 17,65
OO0tS=XIWAL 22 HS K|
30,0003 3 18] 0
201 er23| 2,664 2,960 N2%B
01 AtR2t2|HI 2,664 2,960 A2%6




2A:

Ol&ot=0t

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OIS =X DAL 2T 2%
1,200,000 %14 1,200
OOIS=AUA WF ZA=E
600,000 %14 600
QOIS =X RAHKIHAIEIZTIA St
8,000 9 * 122 864
202 04l 3,120 3,450 A330
01 2LHoIH 3,120 3,450 A330
OSSN WAHKIHAIBIZTIA) S2E7
1]l 20,0002 x10Z* 123 2,400
OOlS=XNLAHSRA) s 2F 0l
20,0002 +x36H *13] 720
CEABE OtsSE A2 X 265,257 265,257 0
= 142,720
=S 10,704
Al 111,833
201 fer=3| 23,840 19,940 3,900
[ 19,072
= 1,430
Al 3,338
01 AtR2t2|HI 21,840 17,940 3,900
OLEAEE g2x8 24|
9,000,000 *14] 9,000
[ 7,200
= 540
Al 1,260
OEEHAERE OlsSE At &elAF S8l
8,000 x4 *102+ 122 3,840
[ 3,072
= 230
Al 538
OEEHARE 2E9133 22 B34+E
1,200,000 *14] 1,200
= 960
= 72
Al 168
OOtsSSRDI2EAM 3o A
750,000 *42] 3,000
= 2,400
=S 180
Al 420
OEEAERE, #HHIE #FHHI0IN XtE<
g 1,600,000 *14] 1,600
= 1,280
s %
Al 224




AT HEIED
B 9 OIS U OLHE EX(ASISK/ES - ISU0IA)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oxtegr ext=z 800,000& 42 3,200
= 2,560
== 192
Al 448
2 352484l 2,000 2,000 0
O8&82= € HA 2,000
SCREAEIE 2% ZEea
2,000,000& %14 2,000
[ 1,600
= 120
Al 280
202 04dl 13,240 13,240 0
[ 10,592
= 794
Al 1,854
01 =LHAHI 13,240 13,240 0
OO0tSSeAtal2tel At 0Bl 13,240
oOtSSEAtAIZEIAL Atdl2e|] PRFE
20,0002 x4 *102* 122 9,600
[ 7,680
= 576
Al 1,344
o ANG Atefl2te] HRFA
50,0002 x4 +23] 400
[ 320
= 24
Al 56
oOtSSEAtZ2CIAL 1E & YIS A
1] 3,240,000 *14] 3,240
[ 2,592
= 194
Al 454
206 M=l 5,950 5,950 0
[ 4,760
= 357
Al 833
01 M=4l 5,950 5,950 0
Onz1d 2% Mg Fadl
5,950,000 * 14 5,950
[ 4,760
= 357
Al 833
301 Eet2 NS 218,077 223,127 A5,050
[ 104,976




SN OEIIED
M 2] 0tsXE & 6g2dd S(M=R/ES - IIEL0 )
=els Ol sSA XE (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 7,874
Al 105,227
01 Al EEATZ2(2DEZMR) 186,594 193,773 A37,179
CRIAEIE TR (A - 0K - BA - O
z) 29 X 156,594,000 *14] 156,594
= 55,790
< 4,185
Al 96,619
11 HAIMHIXIZ = 36,283 3,454 32,829
OSHARE Z2OE(MEES S) 22 &
] 36,283,000 * 14 36,283
[ 29,026
== 2
Al 5,080
14 DBt 2 a3 25,200 25,900 AT700
OLEAEE MHASA 23|
10,0002+ 102 <32 300
[ 240
= 18
Al 42
OCSHAHE T2 23 (2 AeE 8)
24,900,000 * 14! 24,900
[ 19,920
= 1,494
Al 3,486
307 @20l & 4,150 3,000 1,150
[ 3,320
= 249
Al 581
0122 % /=4 4,150 3,000 1,180
OLEAEE SeAtd2eltiaAt 228l Xl
! 4,150,000 *14] 4,150
[ 3,320
= 249
Al 581
oS¢ X& 16,521,916 16,381,858 A\859,942
= 12,417,533
= 931,315
Al 2,173,068
301 LtEN= 15,521,916 16,381,858 A859,942
= 12,417,533
< 931,315
Al 2,173,068
01 Al EEATZ(2REZME) 16,521,916 16,381,858 A\859,942
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AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ogss Olsa4 9,000 952 «0! 771,120
= 231,336
Al 539,784
240t 24 197,100 175,200 21,900
=S 59,130
Al 137,970
301 EtE NS 197,100 175,200 21,900
< 59,130
Al 137,970
02 MBI 2HHSFHS(FHAANS, KLHE) 197,100 175,200 21,900
OZA0ts SA 9,000 x60H x365! 197,100
& 59,130
Al 137,970
B SEAAER K 38,400 48,000 /9,600
= 11,520
Al 26,880
307 @120l & 38,400 48,000 29,600
s 11,520
Al 26,880
11 ABIS XA EE 38,400 48,000 9,600
OBIIS cEIHAER
38,400,000 * 11 2 38,400
< 11,520
Al 26,880
Olelole 2ls=0] etite 40,000 40,000 0
307 el2tol & 40,000 40,000
04 QIZFHALAI B 40,000 40,000
OO0lRI0lE QI%i=0] B0t
20,000,000 #2012 40,000
CHEN SS At 2l2dl XA 468,000 330,840 137,160
[ 234,000
= 70,200
Al 163,800
307 @120l & 468,000 330,840 137,160
[ 234,000
= 70,200
Al 163,800
05 212t =S 468,000 330,840 137,160
OUEN SSAtY 28l X2
468,000,000 x 14 468,000
[ 234,000
= 70,200
Al 163,800




AT HEIED

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)

s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CIetl SsS At 238l X2 74,000 21,600 52,400

= 37,000
== 18,500
Al 18,500
307 212+01& 74,000 21,600 52,400
= 37,000
=S 18,500
Al 18,500
05 git?(& = 74,000 21,600 52,400
OCEN =sSAtg =238l X2
74,000, 00021 %1 4! 74,000
= 37,000
= 18,500
Al 18,500
CIEH SSAHYE 2 (XHA) 173,960 173,960 0
307 212+01& 173,960 173,960
05 2ItRIE = 173,960 173,960
ot ssAte 22 (X))
173,960,000 * 14| 173,960
Ols2stEAl &4 25,770 12,870 12,900
201 Ler=23 | 10,370 12,870 22,500
01 AtR2te|Hl 10,370 12,870 2,500
Odgt==H| 4,070
oltsdel s283 HMH
1,500,000 *14] 1,500
oOtSESIEAl =4 23|
570,000 *14] 570
oltsdel ux 2,000,000 %14 2,000
Oo=g=¢ 6,300
oOISESTAl FARAZ A =&
100,000& x14E*12] 1,400
oOISESEAl =& goH B4 =&
100,000 x 12 +23] 2,400
oOtsdelXZ0l 29
1,500,0002 %14 1,500
oltsdel SFXEHE 23
1,000,000 *14] 1,000
307 lztol & 15,400 15,400
12 22 E W =S| 15,400 15,400
OuZtAE W =H| 15,400
oltsdcl s SAH 2y O0BHHI0l 28
7,000,000 14] 7,000
o0t OtsAeln=E
8,400,000 * 14 8,400
OlS=TIAIE 2SR 3,646,800 3,625,079 21,721




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 386,138
Al 3,260,662
301 EtE NS 16,140 16,140
02 AMBIEFHGS(FHAAS, NLHA) 13,500 13,500
OAlgots fI2(4, ofglold, =4)
50,0003 x90 2«33 13,500
11 #AIAHIXIZ S 2,640 2,640 0
OOIS=XIAE BAX 22 H&El Al B
o 50,0003 x6 2 x2 2 +23] 1,200
OASOIE AIMTHS) 2 SIm AT} Al
24 B *16Z*32*13 1,440
307 elztol & 3,630,660 3,608,939 21,721
= 386,138
Al 3,244,522
10 Al SXAEEHE 22X 3,630,660 3,608,939 21,721
OOtS=XAIE 2gHI(148], 2441)
3,485,300,000& *14] 3,485,300
== 348,530
Al 3,136,770
OO0lS=XAIE 2HHI(BANSESE)
88,560,000 * 14| 88,560
= 26,568
Al 61,992
OOIE=XAE T2Xe T2y
30,000,000 *14! 30,000
== 3,000
Al 27,000
OOISS AL OISXR(MERE, 2510/
bl et stEdHIS) 26,800,000 * 14| 26,800
= 8,040
Al 18,760
22PS0ts 188 24 269,880 226,715 43,165
= 107,952
= 48,578
Al 113,350
307 elztol & 269,880 226,715 43,165
= 107,952
< 48,578
Al 113,350
10 Al SXAEEHE2EHI2x 269,880 226,715 43,165
ORE=0ts 188 24
269,880,000 x 14 269,880
= 107,952
[ 48,578
Al 113,350




A HAIED

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)

s Ots=A A3 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
QES0IE 18& 2% (&=Hl) 62,320 82,727 220,407

& 18,69%6
Al 43,624
307 212+01™ 62,320 82,727 220,407
& 18,6%6
Al 43,624
10 Al S XA EEHE2IHIE X 62,320 82,727 220,407
ORLES0ts ISS(BMASEEY)
11,520,000 & * 14! 11,520
T 3,45
Al 8,064
ORES0ts J1EE A 212H| EA
30,000,000 14! 30,000
& 9,000
Al 21,000
ORESOIE J8E OISl (MEss,
SICETNVETET =)
20,800,000 *14! 20,800
& 6,240
Al 14,560
SHOlcHots & 29 356,577 237,182 119,3%
= 142,628
& 42,790
Al 171,159
307 QIZ2t01A 356,577 237,182 119,3%
= 142,628
& 42,790
Al 171,159
05 QIZtRIEr S 356,577 237,182 119,3%
Ostiiuloiots&H 29 356,577
ostfIloHotsaE (Lot 89
237,984,000 x14] 237,984
= 95,12
T 28,559
Al 114,233
oSN OISEE (00 2
118,593,000 * 14! 118,593
= 47,436
& 14,231
Al 56,926
S TloHOotsS & e 29 (=hl) 9,840 15,840 A6,000
& 2,952
Al 6,883
307 212+01 ™ 9,840 15,840 A6,000




D EIEDL

2K 01sXE & 4R ST(ARSA/ES - IIELAHY)
© OlE=A XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,952
Al 6,888
05 2ItRIE = 9,840 15,840 26,000
OstiLIciOtsEH SALA SE2Y
6,840,000 14 6,840
= 2,052
Al 4,788
OstiillloliotsEEl SALA 8=
3,000,000& *14] 3,000
& 900
Al 2,100
SH{Ilolots LAIESAIE KA 4,860 4,860 0
= 1,458
Al 3,402
307 el2tol & 4,860 4,860 0
= 1,458
Al 3,402
11 AMISXAIEEX 4,860 4,860 0
OSIHTITHOIS LAIRBAIL X2
4,860,000 * 14 4,860
< 1,458
Al 3,402
AR SOtS AERIE 18,000 18,141 A4
= 12,600
== 1,620
Al 3,780
307 212+01& 18,000 18,141 A4
= 12,600
=S 1,620
Al 3,780
11 AMISXAIEEX 18,000 18,141 A4
OZAEXS0ts NHEXI (Atdi2tel)
16,500,000 * 14! 16,500
= 11,550
= 1,485
Al 3,465
OZAEXS0ts MHEX (HEH
1,500,000 *14] 1,500
= 1,050
=S 135
Al 315
Olsstti2=s K& 16,260 26,360 210,100
201 =3 9,960 14,360 A4,400
01 At2t2lt] 8,000 11,000 23,000




2A:

Ol&ot=0t

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
n H =t NP (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O28 OtsEs 2d -3 24
1,000,000 %14 1,000
OOtsstt moi(2d)ots 2S£
1,000,000 *14] 1,000
OAZERAHE 212 32 E4xE
100,000 x5 * 123 6.000
02 S5=g4l 1,960 3,360 1,400
O=s2= & HAl 960
oOtSe MEYER FUHEE SAZ(L6)
40,0002 x2CH* 12 960
OXtg - &9t 1,000
o0lSES 2T =4 X KA
1,000,000 14| 1,000
202 04l 4,800 8,400 23,600
01 =LHA LI 4,800 8,400 A3,600
OOISSITIZAF L A2 BEOIY
20,0002 x4+ x 12 4,800
307 21201 & 1,500 3,600 2,100
012z € 2=H] 1,500 3,600 22,100
Os=tthulsiots K& 1,500
oSHHIIGHOtSXI# (M Z2H & H])
1,000,000 14| 1,000
o SHHIIGHOtS XA (S4Hl)
500,000 14 500
OISESdEII12 28 46,388 41,861 4,527
308 AtXIEHMSOIE 46,388 41,861 4,527
07 XA EE2 46,388 41,861 4,527
Olls2sdz)2 2d RY=
46,388,000 x14] 46,388
Ols2s dFAY 20,000 20,000 0
= 16,000
< 1,200
Al 2,800
201 =3 1,080 1,080 0
= 864
=S 65
Al 151
02 s3=gHl 1,080 1,080 0
O0tsEs g2 FlHEs Stl=
45,0002 x2CH* 122 1,080
= 864
S 65
Al 151
202 04| 4,800 4,800 0
= 3,840




A HAIED
B 98 OIS U OLHEO! SX(ASI=X/ES - IHEU0HA
s Ots=A A3 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 288
Al 672
01 =WO4bI 4,800 4,800 0
OUSESHYERE HR2FE ¢l
20,0003 *2Z*10« 12& 4,800
s 3,840
= 288
Al 672
301 LPBNZ 14,120 14,120 0
s 11,29
= 847
Al 1,977
01 Al B&X2HZ2(2REETA) 14,120 14,120 0
OE30ts MHlA 29| 14,120
o250 28H Xg
300,000& 12 3,600
s 2,880
& 216
Al 504
oES0IE AHIAH HIZb|
200,0002 124 2,400
s 1,920
& 144
Al 336
cE2350t=s JIEHKIR 2,120,000 *14] 2,120
s 1,696
& 127
Al 297
oHE0IE YRR HAS I8 2ETY
20,0003 *300 6,000
s 4,800
& 360
Al 840
NASEOLS AEA 3%, 880 395,380 1,500
= 47,064
Al 349,816
301 LB F 3%,880 395,380 1,500
= 47,064
Al 349,816
02 MBI BEHHS2(HUAS, NLTHEA) 396,880 395,380 1,500
OJE/AEMU =23
19,680,000 * 14! 19,680
& 5,904
Al 13,776




2A:

Ol&ot=0t

B 98 OIS U OLHEO! SX(ASI=X/ES - IHEU0HA
@42 ol ==Xl K3 (EEEE))
SA - S(3) - MBAY - BAS Ofl by G o MimE=EY
OJI8E0ts HatrEx2
1,500,000 x6H 9,000
& 2,700
Al 6,300
OIFEELAIC] SR H 2t
8,200,000 & * 1A 8,200
= 2,460
Al 5,740
OJIHPISOIE 25 Xe
360,000,000 x4 360,000
& 36,000
Al 324,000
IIEIE0ts Aol2EE KA 5,824 6,518 AB6A
= 4,077
& 524
Al 1,223
307 S1Z2H0| & 5,824 6,518 N6%4
= 4,077
& 524
Al 1,223
== 5,824 6,518 A6
O EREOts MolBEEE XA
5,824,000& x 1A 5,824
= 4,077
o= 524
Al 1,223
OrESIEorE AleixiEtl A9 4.400 4.400 0
2 3,080
= 3%
Al 924
301 EtE NS 4,400 4,400 0
= 3,080
< 39%
Al 924
01 ABIEEEAH2(ZDEEHL) 4.400 4.400 0
OJI8=0ts Alelxl=dl K&
4,400,00024 *14! 4,400
= 3,080
< 39%
Al 924
IIEAEX2AE 29 27,160 27,160 0
308 AXISHISOIA 27,160 27,160
07 XX SHH2t2E2 27,160 27,160




AT HEIED
¥ 25 0SSN & oddd ST(MRSN/ES - HFL0Y)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEERETEEE
27,160,000 x 14 27,160
d20ts2=H K& 28,500 28,500 0
= 19,950
= 2,565
Al 5,985
301 EtE N = 28,500 28,500 0
= 19,950
< 2,565
Al 5,985
01 AR 2EHSHS(RNEXRTH) 28,500 28,500 0
Od=20tsEsH| X
28,500,000 » 14 28,500
= 19,950
& 2,565
Al 5,985
PA0ts JIEXE (L LHISXE) 181,748 176,899 4,849
Jl 127,223
< 15,998
Al 38,527
301 LELE NS 181,748 176,899 4,849
J| 127,223
=S 15,998
Al 38,527
01 Al EE A S(FRNEXM) 181,748 176,899 4,849
OBHALOIS %S B3
18,648,000 * 14| 18,648
Jl 13,063
=S 1,678
Al 3,917
Oglls g5+ AH
158,400,000 * 14| 168,400
Il 110,880
s 13,735
Al 33,785
ogAHIE 2,700,000 *14] 2,700
Jl 1,890
=S 405
Al 405
Ooge=ol= 2,000,000& *14] 2,000
Jl 1,400
=S 180
Al 420
gtiaiots 23l A& 12,000 12,000 0




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 8,400
=S 1,080
Al 2,520
301 EetE2 NS 12,000 12,000 0
= 8,400
= 1,080
Al 2,520
01 Al EE AT S (2 RDEXA) 12,000 12,000 0
oggidots 258l A&
12,000,000 * 14! 12,000
= 8,400
= 1,080
Al 2,520
2SES0tS NHEEES 170,000 240,000 70,000
== 51,000
Al 119,000
301 22N = 170,000 240,000 70,000
[ 51,000
Al 119,000
02 MBI 2EHSFS(HAANS, XLHE) 170,000 240,000 70,000
O=2sE=0ts NEHEHS
10,000,000& 17 170,000
= 51,000
Al 119,000
2SES0ts NE=E X 456,000 352,800 103,200
= 364,800
= 27,360
Al 63,840
301 EtE N = 456,000 352,800 103,200
= 364,800
& 27,360
Al 63,840
01 A2 HSHS(RNEERTH) 456,000 352,800 103,200
OE=5=0ts NE+E
456,000,000 * 14 456,000
= 364,800
< 27,360
Al 63,840
25 & 73,782,170 76,011,297 N2,229,127
= 35,163,284
< 25,954,141
Al 12,664,745
S3EOE0IE SZHI(MEALY) 841,317 1,244,328 403,011
= 630,988




AT HEIED
ZH: D5 0ISKY L OERY SA(MEIST/2S - HEL0i4
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 210,329
307 gl2tol & 841,317 1,244,328 A403,011
=S 630,988
Al 210,329
10 Al SXA2EE 22X 841,317 1,244,328 A403,011
O3 0el0ld 24|
841,317,000 x14] 841,317
< 630,988
Al 210,329
SBENE0IE 2 X (=HI) 142,569 120,912 21,657
= 42,771
Al 99,798
307 @20l & 142,569 120,912 21,657
=S 42,771
Al 99,798
10 Al SXA2EE 22X 142,569 120,912 21,657
OSSE0el0ld xe2ld el
142,569,000 * 14| 142,569
< 42,771
Al 99,798
H=goiglold 24 & 298,000 330,000 A32,000
307 elzto| & 298,000 330,000 A32,000
10 Al SXAAEEHE 22X 298,000 330,000 /32,000
OU=E0{2l0l1& 2HI(XtA)
298,000,000 x 14 298,000
2= FE==S HEI0IE 24l 109,500 87,600 21,900
307 21201 & 109,500 87,600 21,900
e NEEEEETEES 109,500 87,600 21,900
023 ZLSE 0RI01F 23|
109,500,000 * 14! 109,500
SEE0IE 29 X (&Hl) 25,200 17,700 7,500
= 7,560
Al 17,640
307 el2tol & 25,200 17,700 7,500
= 7,560
Al 17,640
10 AlISXAZEE 22X 25,200 17,700 7,500
Ogel0ielold 28 g4t N3
25,200,000 * 14! 25,200
== 7,560
Al 17,640
020l HAgtal A 10,000 13,000 23,000
307 lztol & 10,000 13,000 23,000
04 CIZHHAMAIH 2 & 10,000 13,000 A3,000




2A:

Ol&ot=0t

M 9= oSN U OAR SA(NS=X/2S - HEL0A)
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0el0IE AZs| AL
10,000,000& * 13l 10,000
0201y Esudd 232 ¢ 10,000 15,000 /5,000
307 gl2to| & 10,000 15,000 /5,000
04 QIHHAIAIH 2 £ 10,000 15,000 25,000
OESuUAA 239 &
10,000,000& * 14! 10,000
SOISSANZHE SPRUSASE (HEAY) 20,000 20,000 0
< 20,000
307 @120l & 20,000 20,000 0
=S 20,000
05 DiZkelera 20,000 20,000 0
OSOIESNAME IFYT N (22DS
At) 20,000,000& * 14 20,000
= 20,000
SOISEXN2HEH X 598,200 598,200
307 elztol & 598,200 598,200
05 21t S 598,200 598,200
OgAtEe] A2FEE M08 B8N,
Ar 68,200,000 * 14 68,200
OF0IESeXadE 29 X3
530,000,000 *14] 530,000
CHEMI WAL ©124H] X2 AHY 3,633,851 3,667,851 234,000
= 2,130,711
=S 952,998
Al 550,142
307 21201 & 3,633,851 3,667,851 34,000
= 2,130,711
= 952,998
Al 560, 142
05 212t =S 496,000 530,000 A34,000
OUM AL 1248] X2
496,000,000 *14] 496,000
= 248,000
= 74,400
Al 173,600
10 AlRISXAZEE 22X 3,137,851 3,137,851 0
SXZWA X# 3,137,851,000& 14] 3,137,851
= 1,882,711
= 878,598
Al 376,542
O12101E MW AL SALRL =& 12,600 12,600 0
== 3,780
Al 8,820




2A:
PSRLBECES
ctel:

VEplES!
OISXIE L GAR SR (ASZN/ES - 5
25 19

SA - ZE - B2(30) - HRAS of v G o HIDE2
301 EtE NS 12,600 12,600 0
= 3,780
Al 8,820
14 DBt 2 a=S 12,600 12,600 0
OOG2l0lE UM wA SAAF =&
50,0002 x21F 128 12,600
=S 3,780
Al 8,820
ool =& XI& 156,438 163,675 NT,237
= 93,862
= 43,803
Al 18,773
307 @I2t01 & 156,438 163,675 NT,237
= 93,862
= 43,803
Al 18,773
10 Al SXAEEHE 22X 156,438 163,675 NT,237
OO0 DYDY X2
75,714,000 * 14| 75,714
= 45,428
= 21,200
Al 9,086
OXU2LHI(S0E, HH0IEE) X
74,302,000 *14] 74,302
= 44,581
= 20,805
Al 8,916
OS0/& AT HOIORI0IF xR
6,422,000 * 14 6.422
= 3,853
= 1,798
Al 7
oeloly 2% XI&(<Hl) 3,564,146 3,073,196 490,950
< 907,971
Al 2,656,175
301 LELE NS 1,815,900 1,273,560 542,340
S 434,577
Al 1,381,323
02 A2 EH 2GS (FHAAHS, W) 1,346,340 750,000 596,340
OB3-5Al HEF2 (L2t - ItF0RI0IE) XI&
1,346,340,000& » 14 1,346,340
= 336,585
Al 1,000,755
14 0Bt 2as 469,560 523,560 254,000




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)

o2 B K& (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OOt - HOHOFES0IRI0IE BARF SZ
& XA 100,000 31128 37,200
& 11,160
Al 26,040
OFOHOIRS01ZI0IE XIZAF MM SE
A& 150,000& 2 x 128 3,600
= 1,080
Al 2,520
OE0ld Esndd X< K&
428,760,000 x 14! 428,760
& 85,752
Al 343,008
307 S1Zto| & 1,748,246 1,799,636 251,390
< 473,394
Al 1,274,852
10 AISISEXIAIEEE2IGHIEX 1,748,246 1,799,636 251,390
OASHAEI0IE RZF2HH| K&
200,000 x48[H*12& 115,200
& 34,560
Al 80,640
OHO0}F - ZOHOIMESUHEI01& W - LHEHH] X
100,000 2 2«8 1,600
= 480
Al 1,120
OZOHOIMZ20 eI 0l & & I|AF 214H] XA
24,127,000 x 14 24,127
& 7,238
Al 16,889
Ool2k - JIE0el0|d =2|& olAHH| K&
426,219,000 * 1A 426,219
= 128,846
Al 297,373
OO0{gl0l& etE 29H| X
1,041,200,000 x 14 1,041,200
& 260,300
Al 780,900
OFEXNKAAE Sl B0 &H]
139,900,000 * 14! 139,900
= 41,970
Al 97,930
B AMHIA K& 235 3,724,232 3,510,230 214,002
301 LEIEN = 1,174,800 1,245,600 A70,800
14 J|EI2 A2 1,174,800 1,245,600 70,800

o
O0fRI01E REY SEY

950,000,000 *14] 950,000




SN OEIIED
M 9% OEXY U OAR0 SF(ABI=/ES - =LA
¢4 25 K& (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OBSLAt Z12245(212F - O1E)
30,0002« 180K 122 64,800
OOfRI0IE nEY BR>T
50,000& *1,600F *23| 160,000
307 QIZ2t01A 2,549,432 2,264,630 284,802
06 2832 97,9% 97,9% 0
OO02lold eHEIZHEE It X
97,995,000 & * 14! 97,99
10 Al SXAIEHE2EHIEX 2,351,437 2,046,635 304,802
OZAM - EXI020l1d 2&I|AL C124H]
867,680 x3H x 122 31,287
OoIZt- I E0l1E XtE2g|
200,000 79CH* 123 189,600
OOIRI0IE o - Lhrt] XIS
70,800,000 14 70,800
OL7E HElold 0~1AIEt 28| XIJ
450,000,000 14 450,000
0212t - IHEAEI0IE &AL CIAB(LR)
200,000 3500 A+ 12 84,000
OFRXEAE EFWAL 1A XI&
250,000& x 115+ 12& 345,000
O0RIOIY BRsg Sussy X
900,000,000 14 900,000
O0=& Helol& gtE 29H| XI&
30,0003 *780EH 123 280,800
11 AR SXAMEE R 100,000 120,000 220,000
FO0t M= X
100,000,000 * 14 100,000
SFAR lAd] K& 11,628,057 11,274,763 353,24
= 6,976,834
= 3,255,856
Al 1,395,367
307 212+01 A 11,628,057 11,274,763 353,294
= 6,976,834
= 3,255,856
Al 1,395,367
10 IS SXAIEHE2ZHIEX 11,628,057 11,274,763 353,294
ONglold wuEA olAd| K&
11,628,057,000& * 14! 11,628,057
= 6,976,834
= 3,255,856
Al 1,395,367
AZIRHIEEAEIA HSXI& 672,228 672,228 0
= 336,114
= 168,057
Al 168,057




AT HEIED
M 9= oSN U OAR SA(NS=X/2S - HEL0A)
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 98,000 98,000 0
= 49,000
== 24,500
Al 24,500
01 AR 2EHSHS(RNEXRTHE) 98,000 98,000 0
OAIZNEZEEE XIH 98,000,000 * 14| 98,000
= 49,000
=S 24,500
Al 24,500
307 212+01& 574,228 574,228 0
= 287,114
=S 143,557
Al 143,557
10 Al SXAEEE 22X 574,228 574,228 0
OAIZHEFEAMEIA ME K&
574,228,000 x14] 574,228
= 287,114
= 143,557
Al 143,557
EUHE MM K& 2,201,187 2,076,340 124,847
= 1,320,712
= 616,333
Al 264,142
301 EetE NS 2,201,187 2,076,340 124,847
= 1,320,712
= 616,333
Al 264,142
14 JIEt 23 2,201,187 2,076,340 124,847
OS01&E ZSWA SZ224g
163,817,000 * 14 163,817
= 98,290
= 45,869
Al 19,658
OUARZ RN EbI
2,013,203,000& 14] 2,013,203
= 1,207,922
= 563,697
Al 241,584
OuAIB2AE XI3H|
24,167,000 * 14| 24,167
= 14,500
= 6,767
Al 2,900
g=0t 2= K& 20,000,000 19,997,676 2,324




AT HEIED
M 9= oSN U OAR SA(NS=X/2S - HEL0A)
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 15,000,000
=S 3,500,000
Al 1,500,000
301 EetE2 NS 20,000,000 19,997,676 2,324
= 15,000,000
= 3,500,000
Al 1,500,000
01 Al EE AT S (2 RDEXA) 20,000,000 19,997,676 2,324
O2H2H B2 20,000,000,000& x14] 20,000,000
= 15,000,000
= 3,500,000
Al 1,500,000
3-5M =l 13,632,845 13,632,845 0
=S 13,632,845
301 EtE NS 10,140,000 10,140,000 0
= 10,140,000
02 ARSI S2E AT S(FIANS, XLETHE) 10,140,000 10,140,000 0
OB356M ESS(ALRSHENES)
10, 140,000,000 *14] 10,140,000
< 10,140,000
307 @I2to| & 3,492,845 3,492,845 0
== 3,492,845
10 Al SXAAEEHE2EHI2x 3,492,845 3,492,845 0
OFeld 298], MRMEHH(XE I
ESImMEr=)) 3,492,845,000& * 14 3,492,845
=S 3,492,845
EeEsg A2 1,242,400 3,621,333 A2,378,933
= 931,800
S 217,420
Al 93,180
301 EtE NS 1,242,400 3,621,333 A\2,378,933
= 931,800
== 217,420
Al 93,180
01 Al 2E A S(SRNEXMHE) 1,242,400 3,621,333 A2,378,933
Oo0felold DI0IS0ts Jt8gd=s+d X2
1,242,400,000& x14] 1,242,400
= 931,800
s 217,420
Al 93,180
2220 X 11,164,335 11,657,250 A492,915
= 8,373,251
s 1,953,759
Al 837,325




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)

=t 25 X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 11,164,335 11,657,250 A492,915
= 8,373,251
== 1,953,759
Al 837,325
01 AR 2EHSHS(RNEXRTHE) 11,164,335 11,657,250 A492,915
OR2=20 N 11,164,335,000& x14] 11,164,335
= 8,373,251
=S 1,953,759
Al 837,325
25 elet /= 45,350 23,220 22,130
201 Ler23 | 8,200 9,400 21,200
01 At2t2ltl 8,200 9,400 21,200
Ogit=3H| 1,000
ocEsdUA X LI
o ARl E 28l S
1,000,000 %14 1,000
O=g=¢ 7,200
oESIMRAG X +ENEH AN
3 HA =g 100,000 x 12 +62] 7,200
202 04l 7,700 9,020 1,320
01 2LHoIH 7,700 9,020 1,320
OO0lel0ld JIsEd & AU=0IH &8 &
2l 20,0003 x4H »353] 2,800
O0elold N8 & X8y =0l
20,0003 x4 +503] 4,000
Oofgloly &8z (nxya)
50,0002 x3& x2 2 «32] 900
207 ARl 25,000 0 25,000
01 H1E4H| 25,000 0 25,000
O 2xJ1=H8 +8 84
25,000,000 * 14 25,000
301 EtE2 NS 4,450 4,800 A350
11 #AIAHIXIE S 4,450 4,800 A350
OE=F0Ital HAA &H| 24
30,0002 x40 *13] 1,200
OO0l 28 Asts 41 ad| 24
50,0002 +65 2 *13] 3,250
H==Al S38 dU=0IH 2& 49,715 0 49,715
101 @124H| 33,035 0 33,035
04 JIZtNZ22 NS+ 33,035 0 33,035
Os&€ 2U=01H 2 33,035
o0IFY 78,8802 x1H+52 x52%= 20,509
oFFd 78,8803 x1H 12525 4,102
oMEeD PHAY

6,800 x1Z+62U »52== 2,122
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2A:

Hy: B OISXE 2 04 SX(MB=K/2S - 5L
el e 2eteld 28 (SH &)
S - B SR(BIH) - NIRAY - BAS ofl vy aET HD=2
TA-ER - - = ofl &b S2
oSt&A HAHIE Y
50,000 *x 128 *x45 2,400
oftHA= 250,000 *33| 750
OYx= 12,699
oc(HAHEZsal =AM MEET U MA|F]
AXZ 9,820,000 x 14! 9,820
oF4I| AnE 40,0002 #5CH+ 122 2,400
oUXE SAE M)l YUz
39,9003 10122 479
(@FirR=31]] 3,000
SROIHHIAIAY B 448
250,000& 128 3,000
02 S324H| 69,345 78,295 A8,950
O3322 % MA 24,550
olI|Ig, JtAE Y AdE AIBE
2,000,000 *12& 24,000
CIIAANE E=lEE = 50,000& *13] 50
CUNSRYUREHS 350,000 *13] 350
o5& HIIBEAMZ 150,000 *13] 150
OAEEHIS XY 44,795
ozl oE 8
160,000& *x 128 1,920
od)| otMEL| Y 250,000+ 12& 3,000
oAl otMEZ| Y 240,000+ 12& 2,880
o= HASY 1,000,000& 23] 2,000
o235 2SR
10,000,000& =14 10,000
oM &332 MI|LH| KAE%E
300,000 *4E5*43| 4,800
oA 233|2 ABAIE S84
100, 000& *8S*23| 1,600
o253 2 JIHAEH SN2
1,000,000& *3&*13] 3,000
oM E33E EE S HIE=A IEEN
5,000&*1,350m x13| 6,795
oAHEZstal& SKEH FAE2+
300,000& 35 *23] 1,800
ocHAHEstal2 SIEA S Hiat2tel
1,000, 000& =23| 2,000
ocHAHZSISZ =SAIEE |FA 22
2,500,000& =23 5,000
03 A2 HH| 2,700 3,000 A300
Ostsoz g 2AI |3s
2,700,000& *13] 2,700
206 ME4| 2,700 3,000 A300
01 28I 2,700 3,000 A300




AT HEIED
B 92 OlSAH U OLHEO! SX(ASI=X/2S - IHEU0HA
el e Ese2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oy =staldt +=Zd HZ2LH & HAIZ
MH=4l 2,700,000 *14] 2,700
301 EtE2 NS 330,844 331,404 2560
11 #AIAHIXIZ S 6,844 7,404 A560
OSt&Z2 Y 2A 938 N Al X
5,404,000 * 14 5,404
O d2ztal2t WSZA 253 &H| 24
12,0002 *40 & *32 1,440
14 IIEt2d3 324,000 324,000 0
ONE2BIBIZ ZA 25
90,0002 *40E 9L« 10 324,000
405 AtatE = 5,000 5,000
01 TR ESFSHI 5,000 5,000
Old=Estal2 sisZ2 8 HIS F
5,000,000 =14 5,000
Hed23atal2 cI22d SA 10,000 15,000 25,000
401 AIZHIYL S OHY 10,000 15,000 25,000
01 Al&H| 10,000 15,000 /5,000
Ocid2stalat RotetEa 2|28
10,000,000& * 14 10,000
2201 - U2ePEE - =08 5K X2 4,588,301 4,046,928 541,373
= 1,978,575
Il 570,147
== 477,784
Al 1,561,795
JIEHE 29 475,700 464,500 11,200
7l 209,950
S 62,985
Al 202,765
307 @120l & 475,700 464,500 11,200
Il 209,950
= 62,985
Al 202,765
05 212t =S 475,700 464,500 11,200
OIIFHH 23 419,900,000 * 14 419,900
) 209,950
= 62,985
Al 146,965
OJIB4H SMA M HE =F
55,800,000 x 14 55,800
JIEHH dE 82 2" XEd 84,840 84,840 0
7l 42,420
= 12,726
Al 29,694




AT HEIED
B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
ol HINE - LI2SIIE - 9R0IF0 =X A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 84,840 84,840 0
Jl 42,420
== 12,726
Al 29,694
05 2ItRIE = 84,840 84,840 0
OJt&EHE o5 dE20e XN
84,840,000 * 14 84,840
Il 42,420
== 12,726
Al 29,694
JIEHIH SAX SE€4+H 33,480 27,000 6,480
= 10,044
Al 23,436
307 elztol & 33,480 27,000 6.480
= 10,044
Al 23,436
05 212+ =S 33,480 27,000 6,480
OJIEHE SAINSESE
33,480,000 * 14! 33,480
== 10,044
Al 23,436
JIBAH JIsEZ 40,000 0 40,000
401 AlEHIZL S0 40,000 40,000
01 Al&H| 40,000 40,000
OJIsEZ BAt 40,000,000& x14] 40,000
=S YEY XNZAMS((R)HNBALS LS AAIY) 168,750 165,620 3,130
= 84,375
< 25,313
Al 59,062
307 glztol & 168,750 165,620 3,130
= 84,375
== 25,313
Al 59,062
05 2ItRIE = 168,750 165,620 3,130
OJI=AL LB XA (FH S - 2DIIIEXH
) 168,750,000 * 14| 168,750
= 84,375
== 25,313
Al 59,062
orolEs X 2,706,000 2,267,771 438,229
= 1,894,200
== 243,540
Al 568,260




2A:

Ol&ot=0t

B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
ol HINE - LI2SIIE - 9R0IF0 =X A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 848,555 848,155 400
= 593,989
== 76,370
Al 178,196
05 2I2t9IEr2 848,555 848,155 400
OOOIESNAAY 2
848,555,000& x14] 848,555
= 593,989
== 76,370
Al 178,196
308 XXM SOIA 1,857,445 1,419,616 437,829
= 1,300,211
== 167,170
Al 390,064
13 SI[2S0He 4 A AS A 1,857,445 1,419,616 437,829
OO0ISS 0188 FRNRS AMEZEHS
2 &= 1,857,445,000& x14] 1,857,445
= 1,300,211
s 167,170
Al 390,064
OlOIS 20| H2Z Al X2 (EHIANY) 3,600 3,540 60
& 1,080
Al 2,520
307 lztol & 3,600 3,540 60
= 1,080
Al 2,520
05 2I2tRIE =S 3,600 3,540 60
OO0t0I==20| AZddd| XI&
3,600,000 %14 3,600
=S 1,080
Al 2,520
SSE0tUsE 21 - 29 109,692 109,692 0
Jl 54,846
=S 16,454
Al 38,392
307 @I2t01 & 109,692 109,692 0
Jl 54,846
= 16,454
Al 38,392
05 2I2+RIE =S 109,692 109,692 0
O3SS0tL=sH 29 223 XA (2H2)
109,692,000 * 14! 109,692
Il 54,846
= 16,454




SN OIEIIEDL
- o -/

Hu: P95 OISKR L (8 SA(MSZX/2S - IEU0A)
CHel: 2AUINN - OH2EDIS - 2=0IZE0 =X X

RA - I BRA(E) - HRA - BES of vy A
| Al 3,39
ChE2abiE o e X2 78,680 78,000
Il 39,340
= 11,802
Al 27,538
307 gl2to| & 78,680 78,000
Il 39,340
= 11,802
Al 27,538
05 elzt?(&= 78,680 78,000
Ot2=hE uaoge X
78,680,000 * 14 78,680
Il 39,340
= 11,802
Al 27,538
L2l Yd2usAdla X 220,980 220,980
Il 110,490
= 33,147
Al 77,343
307 212told 220,980 220,980
Il 110,490
< 33,147
Al 77,343
05 2ItRIE = 220,980 220,980
Ot=2=IE ¢2u= AdlA X3
220,980,000& *14] 220,980
J| 110,490
= 33,147
Al 77,343
CH230tE Atdliztel X 37,018 37,018
Il 18,509
S 5,553
Al 12,956
307 212t01& 37,018 37,018
Il 18,509
S 5,553
Al 12,956
05 git?(& = 37,018 37,018
OU23tE Atdi2tel X
37,018,000 * 14! 37,018
Il 18,509
= 5,553
Al 12,956
ZE0IYN SHSAAMEIA XS 32,813 32,813
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b

A ol ZX(ASISXI/2S - IEL0IA)
L - Q=00 27| X (cho):
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 16,407
=S 4,922
Al 11,484
32,813 32,813 0
Jl 16,407
= 4,922
Al 11,484
2ItRE S 32,813 32,813 0
OZ =012k SHAAEIA XA
32,813,000 * 14! 32,813
Il 16,407
= 4,922
Al 11,484
0150f Jt=stE e 35,031 35,031 0
Il 17,515
= 5,255
Al 12,261
307 el2to| & 35,031 35,031 0
Jl 17,515
= 5,255
Al 12,261
05 2IMRIE =3 35,031 35,031 0
OLEabE 01820 Jisatd &4
35,031,000& x 14 35,031
Il 17,515
= 5,255
Al 12,261
Z2E0I12A SEHeAA 24,500 24,500 0
) 12,250
< 3,675
Al 8,575
307 glztol & 24,500 24,500 0
Jl 12,250
== 3.675
Al 8,575
05 2ItRIE = 24,500 24,500
OZ =012k Hef2dst X2
24,500,000 * 14| 24,500
Il 12,250
== 3,675
Al 8,575
HODts 220I12A TOIS A 5,940 5,940
Jl 2,970
s 891




2A:

Bl

B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
Sl H2AINE - LHEBPIIE - 9=01F0 =X X2 (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 2,079
307 212+01™ 5,940 5,940 0
| 2,970
& 891
Al 2,079
05 QIZIRIEr S 5,940 5,940 0
OX0k= Z=0I8IKt THOIS AL
5,940,000& * 14! 5,940
| 2,970
& 891
Al 2,079
F0Pl= Oglold ChEgolains 29 10,800 10,800 0
T 3,240
Al 7,560
307 212+01™ 10,800 10,800 0
& 3,240
Al 7,560
05 QIZtAErZ 10,800 10,800 0
OO0tz Elold G20l na 29
10,800,000 14! 10,800
& 3,240
Al 7,560
2201204 M0 29 21,840 20,966 874
& 6,552
Al 15,288
307 212+01™ 21,840 20,966 874
& 6,552
Al 15,2838
05 QIZtIEr 2 21,840 20,966 874
OZE0120HE M2E0] 2
21,840,000 14! 21,840
= 6,552
Al 15,288
Z20I12I4 =2&2HS HIE X2 9,900 9,900 0
& 2,970
Al 6,930
301 LPENF 9,900 9,900 0
T 2,970
Al 6,930
02 MBI 2EHE S (HUAHS, NSTHA) 9,900 0 9,900
OZE0|0IX 2HFSHIZ N
300,000 *33H 9,900
= 2,970
Al 6,930




D EIEDL
S 0SXd ¥ g SE(AMIEXN/ES - IHEY
0

DA - OE8EE - 2i=0150 =X AIE

&)
SN - BE - SA(B) - NIRAY - BES o 2
CEss FHYus & SA2 29 17,000 17,000
307 QI2H0| A 17,000 17,000
05 QIZtRIES 17,000 17,000
OU=2aht=E FHgus X
12,000,000& 14! 12,000
Oot=2st=M2 29 5,000,000 * 14! 5,000
&z C=zstn 29 32,440 32,440 0
307 2I2+01™ 32,440 32,440
05 2I2tRES 32,440 32,440
Oz 23ty 29
32,440,000 * 14! 32,440
CtE3t0|=01Z AMEH 23 6,000 6,000 0
307 QI2tol A 6,000 6,000
05 QIZtRIEIS 6,000 6,000
OU=230|=F S AdH 2
6,000,000 14 6,000
CHE22tE R AR ZE oty 25 90,900 89,500 1,400
| 45,450
& 13,635
Al 31,815
307 gI2Hol M 90,900 89,500 1,400
| 45,450
& 13,635
Al 31,815
05 QIZtRIEIS 90,900 89,500 1,400
OFMNOE o Z2HY X2
46,700,0003 14! 46,700
| 23,350
& 7,005
Al 16,345
OFet&=d| stSkId 44,200,0003 14! 44,200
| 22,100
& 6,630
Al 15,470
Ch230tE Al 2 Bl XIJ 40,000 40,000
307 gI2Hol 40,000 40,000
1 ARI=EXAIEE X 40,000 40,000
OW==LI23=XE AtY
10,000,0002 *1JH A x42 | 40,000
QAFCIFRISENAHE 2 227,397 228,077 AB80
201 B2 AL| 2,000 2,000 0
01 AtR2eltl 2,000 2,000 0




2A:

Ol&ot=0t

B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
ol HINE - LI2SIIE - 9R0IF0 =X A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OO0i==Al 2Z01E U22HE A=0F0US
ENEEEEREE
100,000 x 10 #2353 2,000
202 04t 960 1,640 2680
01 =LHOHI 960 1,640 A680
OO =Al 2201 U28IHE 2i=el=al
298 ge=d 20,0002 x2E*23|x123] 960
307 212+01™ 224,437 224,437
02 LB HAHE L 9,000 9,000
Q0120 2IHIE Al
9,000,000 14| 9,000
05 21t =S 215,437 215,437 0
O ==Al 2=QIF=AUSSAHHE 2 A
215,437,000 x 14 215,437
Moiel=0l ¥ =S 8HotE A 20,000 20,000 0
307 @120l & 20,000 20,000
04 QIZHHAMAIH 2 £ 20,000 20,000
OMoi=el X CHE3IHE etitg AL
20,000,000 13l 20,000
O==0|==2IHIEH SO A 7,000 7,000 0
307 lztol & 7,000 7,000
04 QIZFBATAIREE 7,000 7,000
OOi2=01=1HIE] 81019 S A
7,000,000 *12] 7,000
ChEst f4d /7 &= 8,000 8,000
307 @20l & 8,000 8,000
04 QIZHHAMAIH 2 £ 8,000 8,000
Olzst 7ad =7 2dliz
8,000,000& 12 8,000
Ct23t Hotstn 29 20,000 0 20,000
S 8,000
Al 12,000
307 elztol & 20,000 0 20,000
= 8,000
Al 12,000
05 2I2HRIE S 20,000 0 20,000
OCt23t otstn 2%
20,000,000 *14! 20,000
s 8,000
Al 12,000
ZEO0IF0E 2IYE AL 20,000 0 20,000
& 6,000
Al 14,000
307 glztol & 20,000 0 20,000
= 6,000
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ol

I

B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
Sl H2AINE - LHEBPIIE - 9=01F0 =X X2 (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 14,000
05 QIZIRIErZ 20,000 0 20,000
OZE0IF0I4 22O AR
20,000,000 *14! 20,000
T 6,000
Al 14,000
HAE HE FH(AIGISX]/ 0l - HAH) 4,941,064 4,873,210 67,854
= 122,637
| 936,39
& 234,761
Al 3,647,267
A BS Y HAE s54 4,941,064 4,873,210 67,854
= 122,637
J| 936,39
T 234,761
Al 3,647,267
HAaE HLRE 146,000 146,000 0
= 73,000
= 21,900
Al 51,100
308 AHXIHMSOIH 146,000 146,000 0
= 73,000
T 21,900
Al 51,100
13 SIS CHEHE A XL EFALIH] 146,000 146,000 0
OF Y AHAXNZ(HLEELHE AMEE X
) 146,000,000 * 14! 146,000
= 73,000
T 21,900
Al 51,100
oW EEXE 18,571 18,571 0
| 13,000
T 1,857
Al 3,714
301 LB F 18,571 18,571 0
| 13,000
& 1,857
Al 3,714
01 AISIBE XS (2 NETME) 18,571 18,571 0
OF3LE EEXIR 18,571,000 14| 18,571
| 13,000
& 1,857
Al 3,714
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M FHAE HE SH(AEISX/ L0 - HAH)
el dAE 25 2 HE |4 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
HLAUERR Ols2sH| N3 96,000 96,000 0
= 48,000
Al 48,000
301 LPBNEZ 96,000 96,000 0
= 48,000
Al 48,000
01 A BEAH 2 (R RNEETR) 96,000 96,000 0
OBAESD OSSR Xe
96,000,000 14 96,000
= 48,000
Al 48,000
FadE MY 196,218 188,277 7,941
& 27,197
Al 169,021
307 212+01 A 196,218 188,277 7,941
& 27,197
Al 169,021
05 QIZIRIErZ 196,218 188,277 7,941
OFA U Ae=XIdE 2 (XHA)
105,563,000 * 170 2 105,563
OFAH NESTHE 29
90,655,000 *1IH A 90,655
= 27,197
Al 63,458
KAt EAHSEXNJANA 25 100,102 100,102 0
J| 50,051
Al 50,051
307 gI2Hol ™ 100,102 100,102 0
| 50,051
Al 50,051
05 2I2tRES 100,102 100,102 0
OXIGAts] EAASEXEMA 2=
100, 102,000 *17H 2= 100,102
| 50,051
Al 50,051
HAEASEHL} T2 29 77,768 77,768 0
J| 38,884
Al 38,884
307 QI2Hol ™ 77,768 77,768 0
| 38,884
Al 38,884
05 QIZtRIErZ 77,768 77,768 0
OFAESHT T2 29
77,768,000 *1JH 2 77,768
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&t EaY B35 ¥ HE =4 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 38,884
Al 38,884
st 9 Fad X 151,334 180,451 883
Il 90,534
< 11,000
Al 49,800
307 lztol & 129,334 128,924 410
Il 90,534
Al 38,800
11 AMEISXAIEEES 129,334 128,924 410
08t % HAE X
129,334,000 * 100 £ 129,334
) 90,534
Al 38,800
308 AFAIEHMSOIE 22,000 21,527 473
[ 11,000
Al 11,000
18 SISOt EAS A 22,000 21,527 473
OBt 9 BA Ho4Y N
22,000,000& » 14 22,000
= 11,000
Al 11,000
St 9 Fad gA8 X 11,528 9,222 2,306
Il 5,764
Al 5,764
307 @I2t01 & 11,528 9,222 2,306
7l 5,764
Al 5,764
11 AMEISXAEEES 11,528 9,222 2,306
Ostm 8 HAW JAH| K&
11,528,000& » 14 11,528
J| 5,764
Al 5,764
HadRoiatd Z2AE X3 3,282 3,282 0
= 1,637
= 494
Al 1,151
307 elztol & 3,282 3,282 0
= 1,637
< 494
Al 1,151
02 LB HAHE L 3,282 3,282 0
OFaxdERoliatd 2AIE XI&A
1,641,000 #2002 3,282
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SN AT

I HAE AN SH(ASIEX/ 0l - FAH)
= al 2
x4

Helr 3449 25 2 248 |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 13,104
301 EtE NS 18,720 17,280 1,440
=S 5,616
Al 13,104
14 0Bt 2as 18,720 17,280 1,440
OFAUH BAX SE4E
18,720,000 * 14| 18,720
< 5,616
Al 13,104
FAEgE OoR2%2 A X 103,8% 79,143 24,752
= 31,169
Al 72,726
307 @20l & 103,89 79,143 24,752
=S 31,169
Al 72,726
10 Al SXA2EE 22X 103,89% 79,143 24,752
OFaY & 022 UHMeE
103,895,000 * 14! 103,89%
< 31,169
Al 72,726
HFAEH NS00I 2 618,188 575,128 43,060
Jl 298,594
Al 319,594
307 el2to| & 618,188 575,128 43,060
) 298,594
Al 319,594
1 AMISXAIEEX 618,188 575,128 43,060
OFAHLNSOIIHION(LEHE)
182,562,000 *3JH 2 547,686
7l 273,843
Al 273,843
OFAHLWSOPIIHON(FLE)
49,502,000 * 100 2 49,502
Jl 24,751
Al 24,751
OFALHLM=S0IMHIOI SAHAH 4AUEE Dl
H2E8=S 7,000,000 *37H 2= 21,000
BAE=SHAIE X- 692,297 687,913 4,384
307 elztol & 692,297 687,913 4,384
05 2IIRIE =2 692,297 687,913 4,384
OEAESBT 2
422,656,000 * 100 2 422,656
Oblg¥Eadzsod 289
135,016,000 * 11 £ 135,016




AT HEIED
3 Fad AW SE(MR=SX/ 2 - 34 E)
el dAE 25 2 HE |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
P EEEERES
134,625,000 * 100 2 134,625
EAEX AL X X 73,944 74,016 AT2
) 36,972
Al 36,972
307 @12t0| & 73,944 74,016 NT2
Il 36,972
Al 36,972
05 2ItRIE= 73,944 74,016 AT2
OFaEa2t XA HHXI
24,648,000 * 104 2= 24,648
Il 12,324
Al 12,324
ODIEEAE25t2E XIS A BiX
24,648,000 * 11 £ 24,648
Il 12,324
Al 12,324
ONEHE2~EEZ32E I A BiX
24,648,000 * 104 2~ 24,648
Il 12,324
Al 12,324
S3FEAEEAE Z208 2 XIS (XHA) 24,400 24,400 0
307 gl2to| & 24,400 24,400
1 AMISXAIEEXS 24,400 24,400
OZ2ZHAESHAE Z208 2H(XHAl)
24,400,000 * 14! 24,400
NSAFEAE 017 23 (Az F4E FOARE 2 2,800 2,800 0
%)
Il 1,400
Al 1,400
307 elztol & 2,800 2,800 0
Jl 1,400
Al 1,400
10 Al SAAEEHE 22X 2,800 2,800 0
OXNSGEAE B0 24
2,800,000 100 & 2,800
Il 1,400
Al 1,400
NAFHAE 017 2S(Mz F4E 23R 2 4,000 4,000 0
%)
Il 2,000
Al 2,000
307 elztol & 4,000 4,000 0
Jl 2,000
Al 2,000




2A:

3 Fad AW SE(MR=SX/ 2 - 34 E)
ol MAW 25 U AW |4 M2l
SA - ZE . BR() - HRAR - BES A 2
10 AlRISXIAIEEE 22X 4,000 4,000 0
OFidrdNe B2E2HRAL 23
2,000,000 +27H 2= 4,000
Jl 2,000
Al 2,000
A dE3H 23 166,280 166,280 0
Il 83,140
Al 83,140
307 212+01& 166,280 166,280 0
7l 83,140
Al 83,140
05 2IIRIE =3 166,280 166,280 0
OFaxdd=23HE 29
166,280,000 *14] 166,280
Jl 83,140
Al 83,140
HAHGESHH 2(&HI) 9,200 10,000 A800
== 2,760
Al 6,440
307 212+01& 9,200 10,000 A800
< 2,760
Al 6,440
05 2ItRIE =2 9,200 10,000 2800
OBALLSSME 2H(EMRSELY,
wEEH M) 9,200,000 * 104 2~ 9,200
= 2,760
Al 6,440
AN A MM = A& 76,908 n,rer 5,181
s 23,070
Al 53,838
307 @I2t01 & 76,908 mn,rer 5,181
[ 23,070
Al 53,838
05 2IZtAE = 76,908 n,rer 5,181
OF2EXNEL MM =& K&
100,0002 x58 « 122 69,600
= 20,880
Al 48,720
OXMSME == 40 B2 XNAOI2ARES
) 7,308,000 * 14 7,308
== 2,190
Al 5,118
H=AlEAEHNQuER 29 1,620,000 1,620,000
307 elztol & 1,620,000 1,620,000 0




A o&IED

M FaE AN SH(AFSX/ el - FAE)
=] al 2
x4

el dAE 25 2 HE |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 1,620,000 1,620,000 0
O =AlZAHN WS 22H2(EH
1,620,000,000& » 14 1,620,000
FOtuE XN (UF/FUXZTSSUR) 458,000 438,000 20,000
=Ob w=sJ|g X4 458,000 438,000 20,000
=AE ws3Hl X2 458,000 438,000 20,000
308 XtXIEMSO0IH 458,000 438,000 20,000
08 W=J| 202X 458,000 438,000 20,000
ORXE gt=nd T2 24 X2
150,000,002 150,000
ONESXE HES2Ta 29 g
208,000,000 208,000
OO0t d&= X&H 100,000,000 100,000
HYE2FZHI(H A=) (OIEH/DIE 1,257,312 1,157,198 100,114
= 342,319
= 206,720
=S 118,686
Al 589,587
el 2E | 1,169,672 1,060,242 109,430
= 342,319
= 206,720
< 118,686
Al 501,947
el 24| 15,453 15,246 207
101 @124H| 15,453 15,246 207
02 JIEtM = 6,625 6,514 m
OHAAT ALADD4T
9,685 x 1 +57 A2+ 123 6,625
03 SRA(RIH )22 U2+ 8,828 8,732 %
OAlt2I22+E
12,2603 2 *20 A1 2H 123 +150% 8,828
CEHAEE SgAtd2el K& | 191,180 191,180 0
= 102,400
=S 7,680
Al 81,100
101 21AH| 160,136 160, 136 0
[ 83,791
= 6,284
Al 70,061
03 SRA(RIH )22 U2+ 160,136 160, 136 0
OZEAEE OlsSEAtl2eA 24 160,136
=Jlgg 24,332, 7503 x4 97,331
[ 73,945
= 5,546




2A: HAIE
A HHE2HHHI(GAIIED) (OIEHDIIE)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 17,840
odHIsH 1,187, 7503 *4H 4,751
oY Itz 50,0003 x4H 123 2,400
cItEsY 100,000 x4 H 123 4,800
oXeag 80,0002 x42* 12 3,840
ocXgag 200,000 x4F«12& 9,600
o ZMZ A 130,000& x4 H 122 6,240
o HAEZ I 2,027,900 *4H *120% 9,734
ocXHXtE 99,825 x4 10 3,993
SAIZRIRRed
18, 1733 x4 H+20A| 2t 123 17,447
= 9,846
& 738
Al 6,863
4 ASRE3IS 31,044 31,044 0
= 18,609
& 1,3%
Al 11,039
M SRHE(PINHS) 22X B82882 S 31,044 31,044 0
OO0tsSEAtell2elAl 40 28 D12 €3
2 EHF S 31,044,000 3 14| 31,044
= 18,609
& 1,3%
Al 11,039
XS 0otsHIE OtsSXInAL XI# 2124H| 810,845 699,349 111,496
= 342,319
& 103,182
Al 365,344
101 2124 d| 691, 131 566,427 124,704
= 285,074
= 85,522
Al 320,535
03 BRA(RIAHL) 22X B 691,131 566,427 124,704
OO0tS=XIWAHL B WAL THA XI& 654,912
oll2a 544,320,000 & * 14! 544,320
= 272,160
= 81,648
Al 190,512
ocHEMNS 54,432,000 3 14| 54,432
ozZAl| 56,160,000 14| 56,160
OOtSEXI WAHKIZAISI = XA XI& 36,219
oJll2g 22,649,0003 1Y 22,649
= 10,853




AT HEIED
3. A2 3HI(0gIH=E!) (1B IIE
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,256
Al 8,540
ox2sy 738,000 *1% 738
oItESY 40,0002 x 1+ 122 480
oXNRrY 80,0003 1 * 122 960
oXgsd 200,000 *1H« 122 2,400
odAZ A 130,000 x 12 * 122 1,560
ocHEFIHI 2,410,000& %1 2,410
oA\ Xt=g 900,000& 1 900
oAe2fE 4,122,000& 1 4,12
= 2,061
= 618
Al 1,443
WM HsFEE=S 119,714 132,922 13,208
= 57,245
= 17,660
Al 44,809
04 SR (RIH )22 BE=RES S 119,714 132,922 13,208
OOtSE X WAHKIFALZ S XA ATHEE Dl
ZRgz o 8Nz 7,124,00024%1% 7,124
=2 950
= 771
Al 5,403
OOtSEXIWAHL B WAL AU EE D122
= % &3 112,590,000 * 14! 112,590
= 56,295
= 16,889
Al 39,406
OlsE2sd8R3 22| 152,194 154,467 N2,273
= 104,320
= 7,824
Al 40,050
101 21A4H| 139,579 133,367 6,212
[ 9,228
= 7,067
Al 38,284
03 SRH(RINAHA) 222+ 139,579 133,367 6,212
O0lsE23dgR3 22| 139,579
SR 109,268,000 * 14! 109,268
[ 87,414
= 6,55
Al 16,298
odAHIAH| 130,000& x2&+ 123 3,120




SN OIEIIED
3. A2 3HI(0gIH=E!) (1B IIE
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oH3+Y 200,0002 =2+ 128 4,800
oXRY 80,0002 x2& 122 1,920
oI ESH 180,000 x2& * 12 4,320
odz2+g 1,065,920 & x14] 1,066
o HE S I 4,675,000 * 14 4,675
oAZ2RAZ2E 8,517,000& 14 8,517
= 6.814
< 511
Al 1,192
oA\ Xt 1,893,000 *14] 1,893
4 HSRESS 12,615 21,100 A\8B,485
[ 10,092
S 757
Al 1,766
04 SR (RIHA)22N BE=RES S 12,615 21,100 A\8,485
OltsEadEey 40 282 J|& RBE=
12,615,000 * 14 12,615
= 10,092
S 757
Al 1,766
=3t 87,640 96,956 29,316
Jl=23H] 87,640 96,956 N9,316
201 er23y| 45,697 53,136 AT,439
01 A2zt 44,797 52,136 7,339
OYetgH| o 4
15,787,000 * 14! 16,787
Osgtl S9AH& 26,130,000 * 14| 26,130
OZ2R(LIIHY) 220 S
8,000& =2 +5& 12 960
O3RH(tSESHE )22 S
8,000 2F*10&x 122 1,920
02 s3=gHl 900 1,000 A100
OBBR3 & HAI BHHA
900,000& *14] 900
202 04l 31,083 33,200 A2, 117
01 SLHoIH 31,083 33,200 A2, 17
PR LN 28,683, 00081141 28,683
OB2X(LIH ) 22X L2EX ol
20,0002« 1 *102+ 122 2,400
203 =4l 10,860 10,620 240
M FA2ELRFAI 10,860 10,620 240
O &II=1H(81E8) 10,860
=3 (318)
(400,0002+(5,000&«19) )« 12& 4,860




SN OIS
B WHSAAHI(018IISD) OIEHIIE
Sl 1=l

RA - I BRA(E) - HRA - BES of vy A

ocd 2353 2H(50H)
(400,0002+(5, 0002 +20H ) )« 122 6,000




